I&LI

T F

&

1 EREEE% (511 1—2:3:-4:-55-56) BILE
(1) B4 - Bihhs
* ¥ N 7 HER (M) w4 (M) 1 £
\ 2B HET 41 4k
T I N
B9 H B B & 6B & 6, 168, 850 1, 800, 000 MAGEEESES 379
e i i 430 5 U FSES =315 5 th
B = 2 Wik 5 55 1 48 g 4 105, 000 P 6 A
moE W E S EH POEE =i 4
N 2 386, 196 25,000 Lottt 4 A
a &t 8, 555, 046 2,160, 000
(2) BHEERYS IEFE
T VaTlh 7= HER
S i H A = zmE (N) i &
FRk244 TH18H InEERE I — 15
TERR244E10 A 22 H S I — 12
A BEEFNY a U NEE R R
% i H W = ZmE (N) [
R4 6H18H~  |[FERBIRE ORMET 2 B | 1 7
kbf\ggﬂﬁﬂynym%
PH2AF 8H 6H~  |Tffr, thREIcRES) &R DA | 2 4 8 o s 11
: ER O 1T M E % SR
ERko4E 9OH18A~  |%j 3 1 9
= it 24
(3) WhEfFmEm T X EEE
FE it H ] 7 ZmE (N) fi £
FRk2si 11238 (RN OIS & i, 475%) 21
T LI 2 %L
Tp2sH 2315 H (SHEBEO B . FHAH) 21
(4) FE TR IS IEEE
* it H A w zME (N) |[RERES (N)
A HoHfE XX VT 77
PRCATE ORIZR | G e s 10 ’
b B A %1
FR2411H19A e RS 19 9
(5) v=THty ZiEdE
%z i H W 7~ zmE (N) i &
eI BVl
k24410 H 19 H (BUk, HLWEFE, RO A 29
R H451)

—-271 -




2 ASa=F47SYEHEEE (5-1-2 1—1) BIF
(1) SEmEneEut 2 —ERFIHEE (A\)
1 = | KE=E | &%= | 2E=EB | £E=EC| HE=E | HHER=E = g
7,863 35, 689 10, 903 5,212 5, 643 6,010 4, 555 75, 875
(2) #h97F IR E g MR A 5 (A)
BT =R JBNT = A5 7 — & i
15, 794 5,131 11,778 32,703

—272—-




